: # of folds
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‘ : 3 paper determme the number of sectrons you 23 :
JI'GCQI'd the number of SBCtIOl'lS formed Record thrs mformatlon 1n the table be]ow and then graph the coordmates on _-'- : i
A the graph prOvrded e - o e

after foldmg 1t in half each tlme After each fold
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e SR R s

s unng March Madness (the NCAA Basketball Tournamcnt) teams play agamst one another with only the Wmmng N
LN -teaiﬂgs progressmg to the next round The tournament sf.af'té With 64 teams. After each round, the number of teams - \\\},
.. playing at each round is half of the number of teams playmg in the previous round. How many teams are left in the
tournament by round 57 B

™

L . _ - o J0 ‘ .
'[# of rounds [ # of teams left e - ‘ (D

RN C=5
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1 X
5. Graphy=3" {~2<x<2} 6. Graph yz[gj {2<x<2}
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/
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e ypy=b"and y={arealways \/leQC \ \@0 over the \/—“ Q X\S
: - %
e An equivalent equation to y =[-§] is: \/ T ’3

e  When the interval is given NO OLFV ® \)\.) 5

A X y
7. Write an equation that would be a reflection in the y-axis of y=5": \Il = 5 OO \/ :S
f

8. Identify which of the following equation is an exponential equation.

@ 3 =(0.5)" 2, ¥=02) 3. y= GJ 4. y=(4x)"
Explain your answer:__ X ==Y { << l N Jrj\ Q. QX_&MQ““

9. Identify which table represents an exponential equation.

n 0 1
A(n) -1 1

2 4
3 7
s s = U

n 0 1 2 3 4 5

A(n) 1 4 16 64 256 1024

[ /R S R SR R S R
C'L-f . ) &P 'L{ Tt;ﬂ

Ol







10. Identify which of the following equations represent either growth or decay. Explain your answer.

Bquation | or Explanation
i < 5>
RS = o>
ES0) O | o< byl
°| G D 0L b <«
Y| = o |







